Publication on Dainik Jagran, Lucknow, Times of India, New Delhi and The Hindu, South Edition

DR. RAM MANOHAR LOHIA INSTITUTE OF MEDICAL SCIENCES VIBHOOTI KHAND, GOMTI NAGAR, LUCKNOW- 226 010

Phones: 0522-4918502, 4918505,Fax 0522-4918506 Website: www.drrmlims.ac.in

Ref. No. RMLIMS/MM(eq)/2021-22/3505

Tender Notice

On-line offers are invited through GeM Bidding/Custom GeM Bidding/BOQ Based GeM bidding from Manufacturer/Direct Importers/Authorized Distributors/Dealer/Accredited Agents for the supply & installation of various items for the various departments.

The Vendors are required to submit their offer on GEM portal only in two bids system i.e. technical & financial bid as per norms of GeM portal.

For detailed information like Name of Equipments, Date of Submission and opening of bid etc., you may please visit the GeM portal www.gem.gov.in. The list of equipments will also be available on our website www.drrmlims.ac.in for reference only. The offer will be accepted On-Line only on GeM portal with terms and conditions as mentioned in GeM bidding documents.

Director

11.12.2021

Date:-

Sr. No.	Name of Department	Name of Equipment	Qty.	Unit Estimated Cost	Total Estimated Cost	Bid Id (IInd time)
1	Surgical Oncology	Hysteroscopy Set and Therapeutic Diagnostic	1	10,00,000.00	10,00,000.00	GEM/2021/B/1697782
2	-	Pipac	1	5,00,000.00	5,00,000.00	GEM/2021/B/1697846
3		ETO Machine	1	65,00,000.00	65,00,000.00	GEM/2021/B/1696076
4	General Surgery	LAPAROSCOPY SET	1	65,00,000.00	65,00,000.00	GEM/2021/B/1696047
5	Gastrosurgery	Laparoscopic Endovision system (4K)	1	65,00,000.00	65,00,000.00	GEM/2021/B/1696012
6		Piezo surgery unit with all kits	1	3,00,000.00	3,00,000.00	Will be uploaded soon
7		Physiodispenser	1	2,00,000.00	2,00,000.00	Will be uploaded soon
8		Cautery machine with two bipolar, one monopolar and one disposable cord	2 set	1,50,000.00	3,00,000.00	GEM/2021/B/1696505
9		Soft Tissue Dental Laser (7	1	5,00,000.00	5,00,000.00	GEM/2021/B/1696949
10		Portable Xray unit	1	2,00,000.00	2,00,000.00	GEM/2021/B/1697011
11		Endo motor	1	1,00,000.00	1,00,000.00	GEM/2021/B/1697120
12		Centrifuge machine for iPRF	1	1,50,000.00	1,50,000.00	GEM/2021/B/1697160
13		Vaccum Forming Machine	1	2,50,000.00	2,50,000.00	GEM/2021/B/1697224
14	DENTISTRY	Electric Saw Reciprocating and Oscillating Saws with hand pieces and blades	1	3,00,000.00	3,00,000.00	GEM/2021/B/1697408
15		Cryotherapy Unit	1	1,50,000.00	1,50,000.00	GEM/2021/B/1697584
16		Magnifying Surgical Loupes	1	1,50,000.00	1,50,000.00	GEM/2021/B/1697640
17		OPG Machine with Lateral Set	1	9,00,000.00	9,00,000.00	GEM/2021/B/1697690
18		Sinus Lift Kit (Direct and Indirect)	1	1,00,000.00	1,00,000.00	GEM/2021/B/1697741
19		Dental Unit with complete accessories and Italian Zero m/m Scarlar & Light Cure unit moniter stand	3	5,10,000.00	15,30,000.00	will be uploaded soon
20	ENT	Miscellaneous ENT surgical instruments	1 set	1,00,000.00	1,00,000.00	GEM/2021/B/1693740
21	1111	Patient body warmer	1	1,00,000.00	1,00,000.00	GEM/2021/B/1693704
22	Pathology	Gel electrophoress system Immunofixation C.S.F and V.W.D	1	38,00,000.00	38,00,000.00	GEM/2021/B/1695933
23		Slide Auto stainer	1	80,00,000.00	80,00,000.00	GEM/2021/B/1693832
24	Ordin 3'	High speed Micro Power Drill System	1	25,00,000.00	25,00,000.00	GEM/2021/B/1707778
25	Orthopedics	OT Light	1	20,00,000.00	20,00,000.00	GEM/2021/B/1693659
26		ICU Bed	4	1,00,000.00	4,00,000.00	GEM/2021/B/1693268
27	Nephrology	Transport Monitor	1	5,00,000.00	5,00,000.00	GEM/2021/B/1693238
28		Dialysis Machine	2	10,00,000.00	20,00,000.00	GEM/2021/B/1696360
29		Suturing Mannequin	1	10,00,000.00	10,00,000.00	GEM/2021/B/1696429
30	Emergency Medicine	HHHFNC (heated humidified high-flow nasal cannula)	1	4,00,000.00	4,00,000.00	GEM/2021/B/1696296

31		Portable ultrasound with multiple probes including ECHO probe (including probes for pediatric/infant evaluation)	1	25,00,000.00	25,00,000.00	GEM/2021/B/1693547
32		Defibrillator with external pacer (with additional attachments/paddles for padiatric age group)	1	2,50,000.00	2,50,000.00	GEM/2021/B/1704304
33		Defibrillator	1	5,00,000.00	5,00,000.00	GEM/2021/B/1696251
34	CVTS	ACT Machine	2	5,00,000.00	10,00,000.00	GEM/2021/B/1717775
35	Pharmacology	ECG and Metabolic Measurement Systems for Small Animals	1	30,00,000.00	30,00,000.00	GEM/2021/B/1693488
36	Neurosurgery	High end operating microscope with exoscope and flow measurement and vessel imaging software	1	4,00,00,000.00	4,00,00,000.00	GEM/2021/B/1693609
37	Transfusion Medicine & Blood Bank	Automated Blood Grouping system	1	1,00,00,000.00	1,00,00,000.00	GEM/2021/B/1693460
38	Microbiology	Thermomixer C	1	5,50,000.00	5,50,000.00	GEM/2021/B/1693305
39	Obstetrics and	NST Machine	2	2,00,000.00	4,00,000.00	GEM/2021/B/1696397
40	Gynaecology	Colour Doppler Ultrasound Machine	1	50,00,000.00	50,00,000.00	GEM/2021/B/1716201
41		Surgical Hydraulic operation table compatible with C-Arm	1	3,00,000.00	3,00,000.00	GEM/2021/B/1704447
42	-	LED Surgical light with external camera system	1	3,00,000.00	3,00,000.00	GEM/2021/B/1704146
43	Anatomy (for Surgical Cadaveric	Operating Microscope	1	10,00,000.00	10,00,000.00	GEM/2021/B/1703751
44	Lab)	Horizontal Chest Deep Freezer -20 Degree Celcius 1000 Ltr.	1	4,00,000.00	4,00,000.00	GEM/2021/B/1704227
45		Sterilizer	1	1,00,000.00	1,00,000.00	GEM/2021/B/1703634
46		Tube Labellar	1	10,00,000.00	10,00,000.00	
47	Biochemistry	Liquid Handling System	1	35,00,000.00	35,00,000.00	
48		Short Wave Diathermy	1	10,00,000.00	10,00,000.00	
49	PMR	IR Camera based Gait and Foot Pressure Studies Lab with Accessories	1	2,00,00,000.00	2,00,00,000.00	
50		Nephro Scope 18/20/22 FR	2	5,00,000.00	10,00,000.00	
51	77 1	Ureteroscope 4.5 FR	1	5,00,000.00	5,00,000.00	1
52	- Urology -	Ureteroscope 6 FR	1	5,00,000.00	5,00,000.00	Will be
53		C-Arm Machine	1	1,08,00,000.00	1,08,00,000.00	uploaded soon
54		Column Agglutination Technology (CAT) System	1	2,50,000.00	2,50,000.00	
55	Blood Bank (Hospital	Donor Couch Motorised (Electric Blood Donor Couch)	4	2,00,000.00	8,00,000.00	
56	Block)	Donor Couch Portable	6	50,000.00	3,00,000.00	
57		Automatic Blood Component Extractor	1	16,00,000.00	16,00,000.00	
58		Apheresis	1	25,00,000.00	25,00,000.00	<u> </u>

9	General Medicine	Portable Ultrasound Machine	1	30,00,000.00	30,00,000.00
	General Production	U.V. Asepticizer	3	9,50,000.00	28,50,000.00
1		Multipara Monitor (5 Para or more)	32	3,50,000.00	1,12,00,000.00
2	1	Multipara Monitor (Low End)	30	1,00,000.00	30,00,000.00
53	For Hospital use	Infusion Pump	125	30,000.00	37,50,000.00
64		ECG Machine	10	1,00,000.00	10,00,000.00
55	-	Suction Machine	15	35,000.00	5,25,000.00
66	for Hospital Use (General Medicine)	Patient Bed (Fowler)	50	20,000.00	10,00,000.00
57	Obstetrics & Gynaecology	Flexible Cryo Probes with Cryo Unit for Gynaecology	1	3,00,000.00	3,00,000.00
58	Blood Bank (Hospital	Dry Plasma Thawing Machine	1	8,00,000.00	8,00,000.00
0	Block)	Automated Plasma Expressor	2	3,00,000.00	6,00,000.00
'1	Surgical Oncology	Hopkins Telescope	02	1,00,000.00	2,00,000.00
'2	Psychiatry	Multi Behavior Therapy Machine	1	2,50,000.00	2,50,000.00
'3	Pediatric	Humidifier High Flow Nasal Cannula System	4	3,00,000.00	12,00,000.00
'4		Pulse Oximeter (Table Top)	10	75,000.00	7,50,000.00
'5	Hospital Use	Defibrillator	07	2,50,000.00	17,50,000.00
'6		Fundus Camera with Fundus Fluorescein Angiography	1	35,00,000.00	35,00,000.00
7	Ophthalmology	Operation Theatre Table	2	1,00,000.00	2,00,000.00
'8	-	Cryo Unit	1	2,00,000.00	2,00,000.00
79	Radiation Oncology	GM based High resolution Digital Radiation survey meter	1	2,00,000.00	2,00,000.00
30	Nadiation Officiogy	Fletcher Williamson (Asia pacific Gynaecological Applicator)	1 set	15,00,000.00	15,00,000.00
31		Derma roller	1	1,00,000.00	1,00,000.00
32	Skin	Iohtophoresis unit	1	3,00,000.00	3,00,000.00
33	1	Radiofrequency cutting	1	3,00,000.00	3,00,000.00

Will be uploaded soon



84	General Surgery	Trauma Trolley for patient transfer	04	3,50,000.00	14,00,000.00	uploaded soon	
85		Pedestal OT Light	01	8,00,000.00	8,00,000.00		
86	Nuclear Medicine	High Resolution Ultra Sound Machine	1	18,00,000.00 18,00,000.00			
87	Dentistry	Implant kit (with all attachments)	1	2,00,000.00	2,00,000.00		
88	Physiology	Treadmill Test	1	2,00,000.00	2,00,000.00		
89	Orthopedic	Vascular Instrument set	1	10,00,000.00	10,00,000.00		
90	Anesthesiology	Anaesthesia Workstation	2	30,00,000.00	60,00,000.00		
91	for Pvt. Ward (Hospital Block)	Mobile Digital Radiography	1	20,00,000.00	20,00,000.00		
92	Neurosurgery	Micro instruments	1 set	20,00,000.00	20,00,000.00		
93	Microbiology	Micro Centrifuge	1	1,50,000.00	1,50,000.00		
94	Radiodiagnosis	Digital radiography Machine	1	1,00,00,000.00	1,00,00,000.00		
95	Nadioulugiiosis	128 slice CT SCAN Machine	1	7,00,00,000.00	7,00,00,000.00		
96	General Medicine	Hospital Fowler Bed with Mattress	70	15,000.00	10,50,000.00		
97	Anatomy	C-Arm Machine	1	25,00,000.00	25,00,000.00		
98		Vedio Laryngoscope	1	2,00,000.00	2,00,000.00		
99	Respratory Medicine	Respiratory Pressure Meter	1				
				1,61,000.00	1,61,000.00		

100		Semi Rigid Thoracoscope	1	40,00,000.00	40,00,000.00	
101		Endoscope Drying and Storage Cabinets	1	1,00,000.00	1,00,000.00	
102		Impulse Oscillometry with Diffusion and Lung Volume study	1	48,00,000.00	48,00,000.00	
103		ECMO	1	30,00,000.00	30,00,000.00	
104	For Covid-19 Hospital	USG	1	25,00,000.00	25,00,000.00	Will be
105		ACT	1	5,00,000.00	5,00,000.00	uploaded soon
106	For Covid-19 Hospital	Single Cassette Reader (Computed Radiogrpahy System)	1	10,00,000.00	10,00,000.00	
107	To come 15 mospital	Multi Cassette Reader (Computed Radiogrpahy System)	1	25,00,000.00	25,00,000.00	
108	Radiodiagnosis	Small X-Ray Digitizer (Computed Radiogrpahy System)	1	8,00,000.00	8,00,000.00	
109	Anesthesiology	Anesthesia Workstation	4	30,00,000.00	1,20,00,000.00	
110	Others items	ı	1	1		